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Question 1: (30 points)

Choose the correct answer, write your answer in the table below:

1. The product of two negative numbers is:

a) negative b) positive ¢)  zero d) cither positive or ne

2. If 3 . 1s a rational number then the conditions on ¢ and b are:

a>0 a+ () a>( a and b integers
a) b) c) d)
b>0 bh#0 b+0 b+#0

3. The solution set of the equation x* =6 is:

a) {-6,6] b) {6} c) {0} d) {-36.36}

4. Any two parallel lines have the same:

a) x—intercept b) v—intercept ¢) slope d) equation



5. The equation of the line perpendicular to the line y=—x+35 and containing the pont (2 . l) 1s:
] 1
a) yv= 5 b) y=-2x-3 c) ¥v= —5 X -3 d) y=-2x+3
6. V064 =
a) 8 b) -8 c) —8i d) 8i
7. The interval notation for the set {.T —3<x< 5} 13
a) (3. 5) b) [—3 : S] ¢) (3, 5] d) [—3 ,5)
8. LCM (x’—x,x -1)=

a) X —X b) x-1 ¢) x*—x d) x(x+1)



9. The factorization of x(x—3)—3(x—35) 1s:

a) —3x(x—15) b) —3x(x—5)’ ¢) (x=35)(x-3) d) (x=5)(x+3)

10. The result of the division e 1S:
3/2.1“ P
a)  2xy b) 2x°y° c) 4xy’ d) 8x’y’

11. The slope of the horizontal line y =2 1s:

a) 2 b) -2 c) O d) undefined

12. The result of the multiplication ('\/?‘f‘ .\/1_)(\/?—.\/1_) 1S

) ¥+ b x-y S )
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13. The simplification of . 1S:
X
a) =3 1| b) 3 ‘T‘ C) —3X H) Ix
14. The solution set of the quadratic equation x° —5x+6=0 is:
a) {-2.3) b) {-2. -3 ) {2.-3] d) {2, 3}
15. The subtraction (3x* —x+3)—(—x+x+1) is equal to:
a) 2x*+2 b) 4x’-2x+2 c) 4x’+2x +2 d) 2x*+4

16. The solution set of the equation ‘r—l‘ =3 1s:

a) {6} b) {-6] ) {4, 6}
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a  -b

17. The result of ——— 1s:
a -b
a) a b’ b) ab c) a’h? d) a'b™!
18. The result of —— = S 1S:
3y 6y
S5x 2 xX+5 2
a) —— by B c) a =X
I8y 5x Oy 5
19. The domain of the function graphed bellow 1s:
a) [4.4] d) (2.3]




20. Which of the following 1s a graph of a function:

a)

b)

Jr.r"'\

d)




Question 2: Perform and simplify the following:

Question 2-1
(2X —3)° —3X(X* +5x—2)

Answer 2-1

(2x —3)" =3X (X “ 45X —2) =4x * —12X +9—-3x ° —15X * + 6X
= —3x°-11X*-6x +9



Question2-2

X + 2 (x—3)° 3x—-3
(x—1)2 x>—4 3-—x
Answer 2-2

Xx+2  (x=3)° 3x-3 _(x+2)(x=3)°(3x-3)

(x-1)% x*—4 3-x (x-D*(x*-4)(3-X)
—3(X+2)(x—=3)(x-3)(x-1)

T (x=1)(x=1)(Xx=2)(x+2)(x—23)
~ =3(x-3)
C(x=1)(x-2)




Q 3-1 Solve the tollowing equations and inequalities:

VX +5 =x+3
A 3-1

JX+5=X+3= Xx+5=(x+3)°
— X+5=X*+6X+9
— X*+5x+4=0

A =9 = thequadraticequation has 2 real soltions:

—5+3 —5-3
= =-1 and x,=———=-4
% 2 2 2

We check the solutions by replacing themin equation (1):
J-1+5=-1+3= /4 =2 whichisalways true = thissolution is then acceptable.

J-4+5=-4+3=1=-1 whichis Impossible = thissolutionis then refused.
The solution setis S ={-1}.




Q 3-2

X —2X+5=0
A 3-2

A=-16; A < 0= thequadraticequation has 2complexsoltions:
2+i|Al 24016 2+ 4i

2
- 2-ilAl 2-iJ16  2-4i
= _ _

2

2 2

=1+ 21,

=1-2I.

Thesolutionsetis S ={(1+2i,1-2i)}.



Q4-1Givenf(x)=6+3and g (x)=2x-1, find f (g (-3))

A 4-1

g(-3)=2(-3)-1=-6-1=-7
f(—7) =6+3(—7)° = 6+3x49 = 6+147 =153
Then f|g(-3)]=153.



Q4-2

Write an equation for the line »
shown in the graph bellow:

A 4-2

The equation of the line is of the form

y = ax + b.

The line passes through the points | (—4,3) and (5,-1).

az—ﬂ and b=£L.
O O

Then the equation of the line is

y——ﬁx-ll
o 9o




Q5-1Solvethesystem [ 2Xx — vy
2

1 graphically.
2

—X + 3y

A 5-1

The solution pointis (1, 1). /




Q5-2 Solve the following system using the elimination method:e

(18x — 75y = 2
12X — 45y =4

<

A 5-2
—2(18x — 75y = 2)
3(12x — 45y = 4)

—36x + 150y = —4

3bx — 135y =12 X = —
&

15y = 8y = —
; 15 S={[7, 8)}
15:::—?5[E]=E 3 15




